Nom : Date :

https://www.letopweb.org

Table entre | et 8

Niveau facile
2x8 = 0x8 = 1x7 = 8x8 = 4 x5
2x5 = 8 x 1 = 1x0 = 0x1 = 8x0
8x8 = 7x6 = 7x10 = 9x4 = 3 x10
7x8 = 7x8 = 6 x 1 = 7x2 = 3x9
Nom : Date :

Table entre | et 8

Niveau moyen

8§x9 = 5x8 = 8 x10 = 3x1 = 2x3

2x9 = 1M0x5 = 6x8 = 6x4 = 2x8

3x6 = 5x3 = 6x6 = 2x6 = 4 x1

1x2 = 0 x1 = 2x3 = 10 x 1 = 8 x5
Nom : Date :

Table entre | et 8

Niveau difficile

3x8 = 4 x4 = 7 x 1 = 5x1 = 8x0
4 x 1 = 7x6 = 8x0 = 2x2 = 7 x7
3x9 = 1x2 = 1x8 = 7x7 = 3 x1

3 x1 = 8x6 = 8x3 = 6x3 = 1x9



16 0
10 8
64 7
56 7
72 5
18 10
18 5
2 0
24 4
4 7
27 1
3 8
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X 6

x 8

x 8

x5

X3

x1

x 4

X 6

X 2

X 6

Correction de la série verte

8 x8

O0x1

9 x4

7 x 2

Correction de la série bleue

40

50

8 x 10

6 x8

6 x6

2 x3

= 80

= 48

= 36

=6

3x1

6 x4

2 X6

10 x1

Correction de la série rouge

16

7 x1

8 x0

5x1

2 x2

7 x7

6 x3



